EARAROBREBRT —5 XN—ZXBISH—F

20224E58118 (K) 3OEEH2H

W 35448 YSRIE B
[xE&] 15 :360,000H  23%&:108,000H  3#&:54,000H  43%&:36,000MH  53&:18,000H
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
115]5| 2U—5—1 # 3 E%mu:g 1:33.9 2-2-2-1 [40.2| - | 5 | 420 ggiﬁ; (542
" (—) _ 1. =
RiTT/—A/ B:9HLORAZwY (-2 TS
sy s 3 | EEEd 1:34.0 4-4-3-2 [39.9| — 1 480 | HOMEE (%)
] 61 s woriros 0 G oy | B
RIROSAVT B:T7A47I754 HE #
3011 1vaws7q # 3 %ﬁﬁﬁ 1:(35).1 7-7-6-4 | 40.6| — | 2 | 451 Eggg %ﬁfm)
: 5 2
RARSHRI—5 B b—EYNRT Y b 2w s
= 3 | RIBME 1:35.4 6-6-5-5 | 41.1| — 6 442 | NIESLAS (SEAR)
TOXTIR “ " A53.0 (1172 © (#) 77—;#59“3‘/
RiXTT«4 BNAFLY RN—K ks
3~ 4 3 | @R 1:35.7 3-3-4-6 | 41.8] — 4 | 438 |BOEE (EEHD)
,{./74\3 I 54.0 a1 (45 | DB
R:r—rF7Sv1 B:Y-=IIvT PRLe]
ITIVFT 3 ﬁ%oﬁz 1:(36;.5 =113 [43.0| - | 3 | 443 7}<§§§ (##)
. 4 PR IIY-
RiIvRIVTA BYYF1-IA) (-6) FHEHES
ReSts—o 4t 3 E?f)ﬂﬂtﬂﬂ 1:(36).9 5-5-7-7 | 42.6| — 7 | 407 ﬁgﬁ; (554
. 2 £
RIRSSAYT BiHO—/TRyD 2| =Xmis
@ 1—F—&RIEL
13—7— 2,5,7,6,4,3,1
20—F— 2,5,7,6,4,3,1
30—7— 2,5,6,7,3,1,4
40— — 5,6.2,1,3,7.4
@ ILRE
BB 5 1,020 JA R 5-6 300/ B & 5-6 1,030 3EE 1-5-6 900
B B 5 310 1=5 390 =51 5-6 3,190 3EH 5-6-1 9,170M
6 170/ 1-6 170

ABIC OV TRUTEREERRODDZE. THRIIZEL.




